. nd(}: 40]05} is |
g' E ; C \}’QN ; ) /SM H“’/m?ti and Contr | Syt (_D :
\ 10l vstems

TONL . pye
. P. Code : 50564
Time '3 ho @
No. 1 is Compulsory urs
£5tion Marks : 80
uestions f
b ﬁ;ﬁ an?‘ﬂﬁg q rom the re""aining S s
' == Yu€stio
y o data if needed, clearly mengio, o ns
/ : Mption,
I g paper for @63 and semilog paper o,
I
i
e energy and powe :
) find th b power of the signa) X(t) =25 . |
ChECkW e system describEd b tha n(ﬁni+n/3) ; .4
bl linear or not i) time in Y the input output relat; {4)
i L) EMCTAaN O robit] ik e s 2 1
rove the convolution property of S the input ang y(t) is the output

he signal wh m ' ()
SLnsde . LR 0se Laplace i i

X(5)Z Te3st2 USINg Initial value ang BTl transform is given by (4)
comment on the stability of the system wit, i orem

gh+2 S°+8s'+ 125+ 2057+ 165 4 16=0 usj Raracteristic equation (4)
=0 using

outh array method

¢)

g
) Sketeh the signal given By X(t) = u(t+3) - 2 u(t-2).# u(t-a), sketch 3iso i x(2t-1) i ) x(1-£) 6)
Findthefundamgntalipe'eriod of the signal o 7 gy - -
v d the even and-odd part of the Stgnal given by x{t) = 10 sin (12 i t) + 14 sin (18 1) (4)
¢ Fin  and-odd part of the signal x(t) = 1- 2 sin(t) +3cos(2t) +6 sin(6t) Cos(2t} i

d and WIZIE'C_'_\‘?? th*’-‘ 5}‘5’_‘9’“ d"-‘&SC'"ibEd by the impulse resporise is i) stable or not, ii) causal or not (6)
i Static or dynamic., h(t)-= 3e~* u(t}, Justify your answer

03) - | .
) F.ind the gutggt pr:the LTI system given by the impulse response h(t) = u(t +1) - u{t-1) when (8)
- excited by the input x(t) = u(t+#0.5) -u(t-0.5) -sketch the output
b) Find exponential Foufier series co efficients of half wave rectified sine wave of amplitude ‘A’ (8)

and frequeney 50 Hz |
¢) Explain Dirichlet conditions for the existence of Fourier transform (4)

Moy
BN ﬁ).-_:f.F.lﬂ."?l. 'ﬁﬂ_Pl?ﬁeﬁaﬂSﬁof rn of the si_gn_aj x(t)=e
~b) Determine the'natural response _forced res
e tﬁ"—: f'ﬁfe" entﬁ]equatmn P 5 +3 y(t) = 4 x(t) in response 10 the inpu

- fntalcondition y{0)=-2 -
- o) Findthe inverse Fourier trans

=2t y(t) + e "t Cos(3t) u(t) : specify the ROC (6)
ponse and output of the system described by  (8)

x(t) = Cos(2t) u(t) and

(6)

fnrmof)((jw)=2fios(m] ¢ lw]sm

=0 ; |w|>n
page 10f2
39714A9EG4A4382

EO76F BSBZSDFE{JE’IT




Paper / Subject Code: 40105 / Signals and Control Sys::eéns
< Q CBJQ}(}CQJ)/\CM ﬂ:/c.}‘[}‘]&_ﬂ- ﬁﬂéode.sosﬁq’

Q5s)

(4)
a) Compare open loop and closed loop control system
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b)Explain Mason’s gain formula and find %f% using Mason’s formula for the (8)
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signal flow graph shown below
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¢) Explain the terms related to the response of a second order system with unit step input
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